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T=.180 LX=3.000 LY=6,000 A=20.79T0 P= 6.2889 3KOREA CASES* (72)=6255,(73)=848%,(99)=979¢ *PAGE 61%
Hmwo avan - s
(1) APARTMENT (ONDOL? (2) PEETING RM(OTHG) {3) ROOF(A) ASPHALT (4) OFFICE,DEPARTHENT {5) APARTHMENT (PANEL)
MEETING RM(CHAIR)
1 S.END DL3I010-242.6 D1ZD10=249.2 ©13030=25601 CL3030=C7kec D%30%0=279.5
£ Se.HID D10 -242.6 £in -249.2 CLf =B56.1 D  «27koi DI ~E7Y% 5
I L.END DI =297¢3 TeSe C10 =297.% ToSe DLE =£97¢% ToSe D0 =2970.% TeSo Dl0 =297,k TeSe
4 L.HID D10 <=£97.1 010 =297.1 Tl =297.3% DI0 =£97.1 DX0 =297.3
€ SHCRT BAR EA  LENG KG EAR €A LENG KG BAR EA  LENE KG BAR EA LENEG KG BAR ‘EA  LENG KG
(1) D32 18.69 }.09 2L.E6 0LI 18420 1,09 18,72 013 17.7% 1.09 13%.19 03: 16,72 1,06 18.32 033 36e23 Lo 17.59
(Z) 010 Be35 Fe3€ 17.57 CIT 9.30 3.36 17.11] D10 8.85 3.36 16064 010 8,36 3.3€ 35.72 030 8433 3.36 15.25
13) 010 9,35 3.30 17.26 L3I0 Q.10 3.30 16.81 D0 8.85 3.30 136,35 030 8.36 3.30C 15.44 DL0 8023 F.30 Lbe99
t5) Dk3 1.51 3.20 4095 £33 3.47 3.30 hoBET 012 3.43 3.30 4o 69 DI 1.35 3.30 Hol3 B33 3:3% 3.30 4o 30
() DI0 1.51 3,30 Ee79 CI0 3,47 3,30 2071 035' 3.43 3.30 Co 6Lt c30  1.3%5 3,30 2049 030 .33 3.30 2ol
{€) 030 1.51 3.30 2079 030 Deu7 3030 2,71 Di0  3.43 3.30 o 6l 030 1.35 3.30 Bob9 030 3,31 3.30 Be li2
17) €10 1.51 3.3C 2079 L3I0 Yo7 3030 271 D30 1.43 3.30 to 6l DI 3.35 3.3L 2.49 D30 3.3 .30 2o 4
B=, 3NN (BEA¥ LEMC KG) K6 (BEAM LENG KC) KG (EEAM LENG KG) K€ (BEAM LENG KG) KG (BEAM LENG KG) KG
€ Cl0(E+3228 .20 4Z.20 CIN(EEE 1¢27) &4Eoll6 DID(BeBL o223 u4l.92 DIC(2.08 1.16) 38.64 DLO(2L08 113> 37.50
7 CIZ(E.08 €.03) 25,23 £131(1.97 1.95) The55% 033(31.93 1.90) 23.88 013(2.8% 1.80) 2E£.55 D33¢375 ke74) BL.8%
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30 LOMG  BAR EA  LENG KG EAR EA  LENG KG BAR EA  LENG [44 BAR EA LENG KG BAR EA LENG KG
1) DID 5437 104 ERY 030 5037 1.0 3.02 018 5017 .04 3.02 010 5,37 l.04 3.02 D30 %5.37 k.04 3.02
(2) PI0 258 6034 9.7 CID 2.58 6.34 9.%7 030 2.%8 6.34 9017 Dl0 ©E.58 6.34 9,%7 DUl <C£e58 6034 9017
(3) DIO 2,58 630 Ge 11 L3I0 2,58 6,30 9533 DIt 2.8 6.30 9031 CIN 2058 6.30 911 0i0 2058 6,30 9031
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(&) TiM .23 6.30 5,35 £10 1.23 %.30 40,35 030 1.23 6.30 435 D30 J.23 6.30 4,35 D10 1.3 6,31 4035
(7) DID .23 6,30 5.3% £X0 1.23 6.30 4,35 010 1.£3 6.30 4,35 DID .23 6.30 4,35 oiu o83 6631 4,35
82,300 (BEAM LENRC XKG) K6 {BEAN LENG KG) KG (EEAM LENG KG) KEG (BEAM LENG KG) KG (BEAM LENG KG) KG
1} C10(1.53 +85) 38.568 £1T{1.53 0« 85) 38468 D0 (k.53 +85) 38,68 D36k 53 285) J8.68 D3{(3.53 285} J8.€8
ke CL3 (N0 Q.0 f.ION T13(0.00 0.TOY O.0OL 03300 C©.00) C.00 033(0.00 C.TCY D.00 D33 (D.U0 Q.00 U.00
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(6) CLASS ROCH (7) ROOF (B) WATER PR. (8) BED ROOM {(9) PARKING AREA,T=k2U (3hil) WAYER TANK,T=320
1 S.END  DL3DIN=P97.%5 013010-300.0 B.h. 013020=300.0 B.A. 013030-183.9 D33 = 93.9
£ S.HID 011 <=£97.5 €10 -380.0 €30 ~:GC.0 Dl0 =183.9 033C30- 93.9
3 L.END DI =£97.3 T.S. CIN =297.1 7T1.Se CID =ES7.3 T.S. 013031-259.¢ Dk3030-339.5
§ L.MI0 D30 =E97,.) CiN =297.1 CiL =297.3 D30 «2%99.2 DD =1k9.5
" B SHCRT EAR EA  LENG KG EAR EA LENG KG BAR EA LENG (4 BAR EA  LENG KG BAR EA LENG KG
11y €13 1%.2¢ 3,09 16.52 012 35.32 1,09 16.38 013 15,12 1.019 16,38 033 24.66 1.09 26.73 013 48,29 k.09 52,34
(£) CLD 7.62 3.3 14,32 CI0 7,56 3,36 1481 BI0  7.5€ 3.36 Y4e2l D10 1833 3.3€6 23.k8 013 24.15 3,36 80,53
(3) LI0 7.62 3.30 }4.08 C10 7,56 3.30 13.96 010 7.56 2,30 13.96 010 2£.33 Z.30 22.78 010 2415 .30 b4ue.€D
) 033 3.23 .30 404 £33 .22 3.30 400 013 J.22 Z.30 400 D1Z 3,99 Z.3¢ 6.53 D33 3.90 3.30 12.79
(5) £i0l .23 3.30 g.27 €10 .22 3.30 2.85% 010 1.22 2.30 £.25 010 1.99 3.30 3.68 D13 3.90 3.30 12.79
(€) L0 3%.23 3.30 2.27 C10 .22 3.30 2,25 DIf 1.2 3,30 .25 DI 1.99 3.30 3.68 013 3,90 .30 12.79
(7) 030 2.23 3,30 2.27 030 l.22 3430 2.25 010 1.22 .30 £e25 010 3,99 3.30 3.68 011 2,90 3.30 7.80
B=oZ00 (BEAM LEM KG) KG (BEAM LENG KO KG (EEAM LENG KG) KC {BEAM LENG KG) KG (BEAM LENG KG) KG
€ 030(1.89 }.06) 35.22 f10¢3.88 L.C5) 34.93 010(2%.88 1.05) 34.93 010(3.06 1.7}) 56.99 010(2.80 1.57) S5l.80
7 C13(3.€5 1.6%) 20,55 C12(1.63 1l.€2) 20.39 012(2.632 1.62) 20,39 DIZ3(2e €7 £o65) 33,26 013(8.,4% 8,36)471.23
8 Clel(l.N0 No00) §.00 LLE(C.00 0.00) D.0C 01€(3.00 D.00) C.CO D1€(0.00 U.0D) @.00 016(0.00 d.00) O.00
S SHCRT TolL( 2o 7l 55,78 TebL ( 2+€7) 55,37 Tol ¢ £467) 55,32 Tel ( 4.36) 90.2% Tel 9.9 223.04
L0 LONE BAR EA  LENG KG EAR EA LEN KG BAR EA  LENG Ke BAR EA LENG KG BAR EA LENG K6
(3) DLO Se17 Xo04 302 LIl 5,37 l.04  3.02 010 S5.%7 .04  3.08 613 5.k3 1.09 5456 013 kP85 %09 13.92
(€) DI0 To58 6,34 Q%7 L3I0 2.568 €.34 937 010 2.%58 €434 Sel7 DIT 2457 634 S.3{ DIU EJ48 6434 22478
{2) D17 2.58 €.30 8013 €30 2.58 €.30 9.31 0lC 2058 6.30) Ye11 010 2.57 6430 9.05 DI0  6e42 6.30 22,65
(43 DLD 1.23 6.30  4.3%5 €10 %.23 €.20 4435 010 l.23 €.30 4.35 03 .22 6030 7466 D33 307 6430 39419
(€) L3N l.23 6,30 4o 35 CID 1022 €30 4435 030 J.23 €.30 4.35 010 ).22 6.30 4432 030 3.07 64300 10.8)
(€) DL 1o23 6030 4,35 CI0 323 Eo3  4.35 010 .23 €.30 4.35 010 .22 6.30 4432 D30 3.07 6.30 30.8)
(7) DI0 223 €430 4435 L10 Yo23 6430  4.35 D10 1.83 6.30 4.35 0lC  1.22 6.30 4,32 D10 3,07 6430 LU.8%
B=.30M] (BEAM LEMG KG) K& (BEAM LENG KC) KG (EEAM LENC KG) KC (BEAM LENC KG) KG (BEAM LENCG KG) KG
31 D104 1. 53 «85) 38,68 C10(1.53 «85) 38,68 DIN 1,53 «85) 38,68 0l0¢ .88 «49) 31.20 010(2420 3.23) 77.86
ke £33(0.00 0.0 Q.00 01Z(0.00 Q.00) Q.0 033(0.00 C.00) C.C0 013( <64  o63) 13.22 033(}3.59 %.58) 33.1}%
K DLE(R.O0 D00 L.0R Cle(.L0 D.UD gQ.0C Dle(.00 Q.00 O0.C0 03€(0.00 0.00)Y 0.00 Dl6{(0.00 d.00 D.00
Wt LONE  ToLt +8%) 38,68 Tl t 2 85) 38.58 T.L( «85) J8.68 Tal( 3odé) 4432 Tol( 2828 k3097
s £330 (332.08) 73,90 €30 (33}.58) 73461 030 (331.52) 73. 6} 010 (157.39) 88,09 030 (233.66) 129.66
LE i3 ( 2[.68) 20.5%5¢% L3 € 20«21 £0.39 D13 C 20.51) 2li+39 L3 ( 46.77) 46448 013 (205.62) @204e.35
17 Dke ( T.om 0.00 £ ( C.00) 0.0¢ 0l ( 0.C00 .00 03€ ¢ Q.0 g.00 0i6 ( g.0m .00
%8 STEEL TOTAL (KCG) 94 4E® TOTAL (KG) S {I0* TOTAL (KG) 94, L0% TOTAL (KG) L34,57% TOTAL (KG) 334,01%
1S CONCRETE (M#*% 3} o435 £s495 24495 Co 495 20495
2 FCRH (Ma22) 20.790 2f. 79[ 28,790 20. 790 2n.790
STEEL/CON, (KG/F¥23)  37,.862% 37,67 9% 37.679% S3. 4% L33.80p"
nE STEEL/HR*P 4o543% 4, 581% 4.52%% 6o l73® l6.0¢€€%
ar STEEL/PYG. L5.020% Lbe 9L 7¥ 14.947% 21, 399% 53.531%
EL COST(TY/PYC. 8,985 8,976 L 8,976 9,782 13,746
Foam oamna ! : S -
T=.120 LX=3.000 LY=6.000 A=2[. 7900 P= 6.2889 *KOREA CASES* (73)=6255,(73)=8481,(99)~-9796 *PAGE 61*%
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